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wO® & A b2
JEAE | HE HE L F 5 | EBERFIR O Moo Pt £ Hb R P AN T DRSS | AE)ER
M,/ ot M/ ot %
1 |FHR5-53 HRAR PRXERES TH109F7 16, 400, 000 14, 300, 000] A 12
F#fE8 —6 —201]
2 |AHE5—5 AR BHRXEERE2THG 6%2 1, 800, 000 1,580,000 A 12.
[Pigs2—13—10)]
3 |AH5—4 HRAR BHRXERE1ITH1I6%FL 44 5, 000, 000 4,400, 000] A 12
M&%F1—1-—21
4 |BEEFPS5—20  [FE)IR BEEFPXILTET T 3 0% 9 910, 000 816, 000] A 10
5 |FH5—48 [|HAHE THREXAEHRIM1ITEL4%F 164 4, 660, 000 4,180,000] A 10
TA3IT1 —2—9]
6 |[#ifE5—25 AR e EET2 TH429%1 1 2, 240, 000 2,010, 000] A 10
FHEpmr2—10—171
7 |#¥ifE5—18 AR HiE XA 2 TH438%1 1 1, 390, 000 1, 250, 000] A 10
FEcEEnT2 —21—6]
8 |[#iE5—1 AR X EGT1 THS 2% 84 9, 300, 000 8,370,000] A 10
FHEAmT1—1—16J
8 |[HiE5—17 WD BFIEXHES TE1O07EL 4 19, 000, 000 17,100, 000[ A 10
[HiE3—28—9]
10 [#FfE5—15 AR HEXEE 3 THLE 24k 19, 500, 000 17,700,000 A 9
[#E3—5—4]
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X K & A b2
NEAE | HE HE L F 5 | EBERFIR O Moo Pt £ Hb R P AN T DRSS | LB
M,/ ot M/ ot %
1 [KBRF5 —1 9 [ KIRIEF KRBT XEESE 1 T H 3 7 %4+ 8, 050, 000 5,800, 000] A 28
MEmEE 1 —6—10J
2 |KBRgs5 —2 | KRR KK X AT 4 6 % 14 28, 700, 000 21,100,000 A 26
F=AbfkrnT 7 — 2]
3 | KBRS 5 — 1 5 | KB KB X8 1 TH 1 4%2 24+ 10, 300, 000 7,650, 000] A 25.
Ty 1—8—21
4 | KRB S5 — 2 4 [ KA KIKFHREXBAARGELTH1 6%F44 1, 500, 000 1,160,000 A 22
FTEAE1—21—6]
5 | KBKHFSR5 —2 3 | KB KIATH R LG 2 TH3 9% 1 18, 700, 000 14, 900, 000[ A 20
FLEfEm2—8—51
6 | KRB 5 — 3 5 [KIKMF KB RETHRET2 TH156%9 795, 000 660, 000] A 17
FTHET2—4—1 3]
7 | KBRS — 2 0 | KRBT KIATHRXPELFE2 TH 1 0% 64+ 3, 600, 000 3,060, 000] A 15
[FELEB2—1—25]
8 [ KB 5 —2 5 [ KT KRBT R KOG 1 TH 3 5% 34+ 2, 630, 000 2,250,000] A 14
FToEEml1—4—29)]
9 |FHEBHILS — 1  [BHEKHE ORI T L P AR KR KBS SR 2 T BfASHT 3 5 7 % 1, 510, 000 1,300,000 A 13
10 | KBdde5 —1 8 KRBT KB R X LG L T H 8% 13, 100, 000 11, 300, 000] A 13
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M, nf M ot %
1 /B 5—2 8 | Bk S ETTPXEE3THO 1 4% 14+ 1, 840, 000 1,560,000 A 15
[483—9—14)
2 |&EET5—16 |ZmE LERTHPRR4TEL 31 28F4 715, 000 644,000 A 9
[%4—13—15]
3 |&EERT5—3 R SHEBEHTRRE3TH2502%2 1, 800, 000 1,630,000 A 9
[%3—25—411]
4 |BEETR S — 3 [FmR AR XAEITS 0 7% 3, 480, 000 3,160,000 A 9
5 [#E@ET5—5 |FZEE SRR 3THL 31 484k 3, 700, 000 3,360,000 A 9
[%3—13—201]
6 |FEMZ—9 FHE ZEEMZET KRR 4 T 2 3F 1 1 34, 400 31,7000 A7
7T |AERETS -4 | EER LR TPR4eL4THG6 1 5% 2, 800, 000 2,600,000 A 7
[&ld4—6—27]
8 |EmZ—7 AR |AMZE R KT S T 5 & 12, 800 11,900 A 7
9 |&EERTHR 5 — 1 R £y BT AT XAERT 15 0 1 %4+ 6, 560, 000 6,100,000 A 7
THEHT 15— 2]
10 |&HREF5—1 7 |ZmE AEBRTHPXE3THS 0 13%& 146 11, 600, 000 10, 800,000 A 6
[#3—5-1J
10 |[AHEEM S5 — 3 |Zmmik SRV AT 1 TH2 0 5% 2, 030, 000 1,890,000 A 6
F&mer1 —2—171J
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SN & A b2
JEAE | HE HE L F 5 | ERERFIR O M oo Pt £ Hb BRI TS DRSFELA RS | A8k
M,/ ot M/ ot %
1 | AFH—2 7N ANETHEIT 7% 2 0 19, 200 16, 400[ A 14
2 [@ml5—1 iz BB IR St E=20r 5 1% 345, 000 303, 000] A 12
3 |KBT5—14 |LBR SRR T X 3% 1 2 4+ 1, 250, 000 1, 100, 000] A 12
FHANT 3 —1 2]
4 R 5—31 st B3 I I R EEIT 2 TH 9% 2 253, 000 225,000] A 11
5 |A&E5—1 7N ANEMIVERT 4 1% 14+ 38, 500 34,400 A 10
6 [WhE—-19 e fe5 W WHhETETEEITH4ES 55, 300 49,500 A 10
7 |EBT5—24 |LKEBR S T XRAERT 3 % 1 44 422,000 380, 000] A 10
[orAnT 3 — 2]
8 |&IR5—14 )1 B ARTHAHT2 TH6 0 0% 24+ 460, 000 415,000 A 9
FThire—24—111J
9 [¥HE5—1 b AEHAN2 TH2 1 7% 4, 450 4,100 A7
10 |5 —1 B R AT XA 3 2 03K 1 84+ 655, 000 605,000 A 7
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